
SAP ABAP table OIG_C {TD Transport unit data in shipment}

OIG_C

TU_TYPE [CHAR (4)]

WGT_UOM [UNIT (3)]

VOL_UOM [UNIT (3)]

DIM_UOM [UNIT (3)]

EQUIP_NR [CHAR (18)]

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]
 OIG_C-EQUIP_NR = EQUI-EQUNR 

0..N

0..N T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIG_C-DIM_UOM = T006-MSEHI 
0..N

0..N  OIG_C-VOL_UOM = T006-MSEHI 
0..N0..N  OIG_C-WGT_UOM = T006-MSEHI 
0..N0..N

TOIGC

CLIENT [CLNT (3)]

TU_TYPE [CHAR (4)]

 OIG_C-TU_TYPE = TOIGC-TU_TYPE 

0..N

0..N


